YR 553K 20070121

IBE| HETY7 IEAY [ E7U 5> —F AESHT—42—8 EXTES
1 BEFE [|[H6,H42,H47 6,13,24
2 AR [[H2,H3 420,24,27,32,3839,46,47
7 2 =22 (4 A 4
3 BEE EJEEETES ||H32’H70 §i§%§7,35,35,36,38,39,4
4 BEE&RINE [H2 Ko1,Ko2,Ko3 2,4,5,20,32,34,46
Frfe ":
5 FAFEEFE D ELY RO H32.H34.H52 2,2,623,25,27,41 4243444
6 BREBHEDESH $1,82,S3 3,43,45,52,53,57
7 BEHERT LILEEOESM|H1, H4,H5,H6,H33,H [S5,56,57,58,010,Q11,Q14, |16,17,32,36,43,45,49,52,5
Aa—7 34 Q15,Q16 3,56,57
8 AT LEEE SR FI D ESM|H3 HA4H16 2,32
N el =9 Lk iy
9 AT LEDERATREM :g,zH6,H7,H25,H35, Q14.Q15.Q16 26.31.33.53
10 E RIS [[H32,H33,H42,H47 [S4,59 14,15,22,27 43,45,51,55
11 DIVTAHIVISADEE |[H5.H22 T15 3,12,31,32,44,49
=== Ll oS o D
12 EITARERT a1 —ILDERR "m?;g?:&mgﬂz T16 3.5.10,17.18.26.32.44
aqL [EBER " ' Q10.Q11.Q14.Q15.Q16.73,
13 H27,H68 T4T7.T8T9.T10 49,50,51
14 EER) 21— LR [H7 H18,H21 T1,T2,75,76,Q16 31,49
15 BROD DR lH16,H19,H31 Q10,Q14 32,46,49
16 azp (LA LEORIFYZ ST [[H46 Ct 7,26,43,44,45,46,56
17 HEARFALUBOBRYZR LM |H7,H46,H47,H48 Q10,Q11,Q14,Q15,Q16 26,43,44,45 49
18 EREHE [[H28 H2,H6 11,21,43,45,48 54
19 | L wEE BifiREMAR [[H29 H1,H5H7 11,26,28,34,35,58
20 PR ER AR ||H13,H14,H15,H17,H H3,H4H8 HIH10.Ko1Ko2, |, o o6 9g 99 31 48
30,H66,H69,H70,H7 [Ko3 E90,E0,£8,69,9 1,
21 i NERFREDZ LM [[H66,H67 10,30,46,48
22 A INyr—E A [[H32,H73 40,43,45,53,55,58
23 . PJXZ K lH14 26,29,50
24 T HMBONE | 06
PURIEHRL A ||H1,H8,H9,H11,H20,
25 | Qzqmh— HEO Cm2,Cm3,Cm4 25,51
ayv PJSMEBERREH ||H2,H10,H12,H20,H2
26 4 H38.H43 HA4 H53 Cm1 17,38,43,44,45 46
97 mEETE H26,H49,H50,H51,H [Q10,Q11,Q14,Q15,Q16,Q17
68,H73 ,Q18,Q19
mEEHE T11,T12,T13,T14,Q2,Q3,Q4
08 mE H9,H40,H41,H49,H5 |, 05,06,07.Q8,09.Q10,Q11, | 4 =
1,H56,H68,H72,H73 |Q14,Q15,Q16,Q17,Q18,Q19|"
,01,02,05
29 on B R EE Q1,Q12,Q13,Tefl
30 RREERBT H74 Te2 14,26,28,31,33,48
31 B[R _ H26,H40,H41,H52 [Q13 12
32 e AT LERAXRE ?725,H35,H54,H56,H Tef 26.31.33.35 46
33 BT\ —> H55 H73.H74 30,33,34,37,39,47,54,55,5
34 | gy EXEE |[H40,H58 H59 01,02,05,07,08 1,8,9,24,25,43 45
35 = Xl TAlESE HH39
36 e+, | AMIER H61,H62 M1
27 TC%C’; A LEEEE ||H15,H60,H62,H63,H 2
64,H65
38 YR 5 [[H36 R1,R2 31,4345
39 JRY 1y R 541 - 514 [[H37 R1,R2,R3 26,27,45
40 YRR IR H38 27
41 2 o SR A BB H43 H44 K1,K2,K3 31
42 = |EmEmR H45 K1K2

20071 A21H

1/1




